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Q1.The angle of elevation of the sun, when the length of the shadow of a tree is 3
times the height of the tree is

T T I HIUT, T Th US &I BT B AdTs US DI Hals HT1V3 T 8

(A) 20°

(B) 30°

(C) 40° .]
(D) 50°
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Q2.A tower stands on a horizontal plane. A man on the ground 100 m from the base of the tower -
finds the angle of elevation of the top of the tower to be 30°. What is the height of the tower?

U TTeR &faol 90 IR Wel g TTaR & MTUR T 100 Hiex g oH I IR U Afad TlaR &
MY HT IFTT P17 30° T g | TR DI Hals [ha! g2

(A) 100 m

(B) 100 V3

(C) 100/ V'3

(D) None of these




Q3.From the top of a lighthouse, 50 m above the sea, the angle of depression of an incoming boat is

30°. How far is the boat from the lighthouse?
TS ¥ 50 Hiex SHUR UH A3cel3y & Y I, 3T dTelt A1d &l a9 BT 30° B
TJHIRRGH T 19 food a2 87
(A) 25 V3 m
(B) 30 V3 m
) (€) 35 V3 m
(D) 50 V3 m




Q4.The upper part of a tree broken by the wind makes an angle of 30° with the ground and the
distance from the root to the point where the top of the tree touches the ground is 10 m. What was

the height of the tree?

g1 T 221 83T Uh US BT SHUR] @1 SH I I 30° &I HI0T T § IR oS ¥ 39 fog b
ﬁg@fﬁﬂswsﬂﬁwa AT 10 HIeX 81 US B HaTs [t A7

(A) 10 V3

) (B) 20 V3 -J
(€) 303
(D) 40 V3




Q5.The shadow of a tower standing on a level plane is found to be 50 m longer when the sun’s
altitude is 30° than when it is 60°. Find the height of the tower.

oIF U B $HdTs 30° Bl g ol THAd 9o IR We Udh CldR &I BT 60° P a1 H 50 Hiex
&&l UTg STt 8 | TTaR bl SdTs JTd DU

(A) 20V3 m

(B) 25V3 m

L (€) 30V3 m

(D) 4203 m




Q6.0n the sume side of a tower, two objects are located. Observed from the top of the tower, iheir
angles of depression are 45° and 60°. If the height of the tower is 150 m, the distance hetween the
objects is

Uh CTaR &b U ol oW 2l 9%y UG &1 eTak & W J 271 W, b 3GTHT HITT 45°
3R 60° g1 Tl TTaR I ST 150 HIeR 7, ol a3l & o1 B g3l §

(A) 53.5 m

(B) 63.5 m

(C) 76.9 m

(D) 86.7 m




Q7.Two ships are sailing in the sea on the two sides of a lighthouse. The angles of elevation of the
top of the lighthouse as obhserved from the two ships are 30° and 45° respectively. If the lighthouse
is 100 m high, the distance between the two ships is

TP UHTR IdH &b SHI fb-TRI TR &) S8 945 B I 38 | SHl ogTell ¥ 31 7Y
THTIGH o 2N BT ITTT B0 BH: 30° AR 45° B TS UHTRRAH 100 Hiex SHAT |,
dl Gl STgTSll o &g &I g3l 8

 (A) 173 m

(B) 200 m

(C) 240 m

(D) 273 m




Q8.The height of a tower is 100 m. When the angle of elevation of the sun changes from 30° to
45°, the shadow of the tower becomes x m smaller. The value of x is

U IR Bl $Hdls 100 HICR g1 OIF T4 BT I999 HIUT 30°  45° Bl ST &, ol TR Bl
BT x HieR BIC g1 Wl 81 x BT A &

(A) 100 m
(B) 100 V3 m
" (C) none
(D) 100(\3 - 1) m




Q9.A person standing on the bank of a river ohserves that the angle subtended by a tree on the
opposite bank is 60°. When he retires 40 m from the bank, he finds the angle to be 30°. The

breadth of the river is

el & fR W1 U Afad ¢@dl § [ fauitd foaR IR U U gRT S97a1 717 H10T 60°
g1 OI§ 98 d® T 40 Hiex R I 91T g, dl 39 HIvT 30° fUaar g1 7] »1 IIss 8
(A) 20 m

(B) 30 m

(C) 40 m

(D) 60 m




Q10.The angle of elevation of the top of a tower at a point G on the ground is 30°. On walking 20
m towards the tower, the angle of elevation hecomes 60°. The height of the tower is equal to

S | fdg G IR T <R & Y &1 3999 BT 30° § | TR B 3R 20 Hiex Ia- WX

ST PIUT 60° Bl ST & | TTAR Bt Hdls SRIeR o
(A)10/N3 m

(B) 20/v3 m

(€) 10V3 m

(D) 20V3 m -]




Ql 1.A man on the top of a vertical observation tower observes a car moving at a uniform speed com
ing directly towards it. If it tukes 12 minutes for the angle of depression to change from 30° to 45°,
how soon after thls will the car reach the observation tower?

Th SHWEIUR 3fdAlhd claR b

Y TR Ueh fad U HR Bl ThIHM Td I DY IThT 3R

&rr?rgk a1 81 afe 3T b

U1 2] 30° ¥ 45° Teb dqer H 12 e &1 9HY o7 g, dl

$HOI9 fha- 9HY Slq PIx 3ddich] TIaR dP LI§T4 \_TllQ]“?

' (A) 14 min. 35 sec.
" (B) 15 min. 49 sec.
(C) 16 min. 23 sec.
(D) 18 min. 5 sec.




Q12.An observer 1.6 m tall is 20\3 m away from a tower. The angle of elevation from his eye to the
top of the tower is 30°. The height of the tower is

1.6 Hiex @91 T Tdef® U Clae I 20V3 Hex G g1 D! 31 I HHR & Y d&
3T DI 30° 8| TTAR &1 SIS §

(A) 21.6 m

(B) 23.2 m

' (C) 24.72 m

(D) 27.72 m




Q13.If the anlge of elevation of a balloon from two
consecutive km stones along a road are 30 degree and 60
degree respectively, then the height of the balloon above the

ground will be

Tt TohdT 98 o [T
0T AT 30 =0T oF
g

A.3 km

B. 1 km

C. 2 km

D. 3 3 km

L ANTATE ﬁw‘lﬁ wu H ATl ST &l

7 60 =3t &, 91 st | F< Teare it F=18
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Q14.From two points on the ground lying on a straight line through the
foot of a pillar, the two angles of elevation of the top of the pillar are
complementary to each other. If the distance of the two points from the
foot of the pillar are 9 metres and 16 metres and the two points lie on
the same side of the pillar, then the height of the pillar is

T T o YT | g Ueh Hiefl @1 92 o ST 92 a7 &6l /), &9 &
9T = T IFAT I Ush T 6 T ol TTa TN o T F Qo Teigeq &t g0
O HYex 3T 16 HieX g X A1 f9g T o Teh 5f <% [#Ad &, AT TN =l

X IR

A.5m

B.10m

C.7m

D. 12 m




Q16.The angle of elevation of the top of a vertical tower situated
perpendicularly on a plane is observed as 60° from a point P on the
same plane. From another point Q, 10 m vertically above the point P,
the angle of depression of the foot of the tower is 30°. The height of the
tower is
U AHdA 9L daad [RId TFH FHEqTe< a1 & W FT ITIT FI7 IHT T I
g P 5 60° 2@T S1aT g1 fdg P & 10 #iex oY g8 fdg Q 7, aTa¥ & e
T AFTHT FHI0T 30° 2| STAL 6l HATS o
A. 15 m
B.30m
C.20m
D.25m




Q17.The angle of elevation of the top of a building and the top of the
chimney on the roof of the building from a point on the ground are x°
and 45° respectively. The height of building is h metre. Then the

height of the chimney (in metre) is :

T THTEA & 9T ST U il gd 92 F=EAT & o &1 S99 92 U fdg |
A IO FHHL: X° 3T 45° 21 THIA i HATe h HieX g. ar =t i .]
SATs (HeT H) g
A.hcotx+h
B.hcotx-nh
C.htanx-h
D.htanx + h




Q18.Two posts are x metres apart and the height of one is double that
of the other. If from the mid-point of the line joining their feet, an
observer finds the angular elevations of their tops to be
complementary, then the height (in metres) of the shorter post is

A G X HIeT &l G2 L 2 3T Teh sl SaTs g8 | QAT gl Tie 3eh U0 &l
ST AT LT o Heg-Tag |, Teh qIaereh i 3 9T &l 0T FATS THh
AT g, AT BT Iree & FATs (Hie ¥) 8
A.X/2~2

B. x/4

C. xv2

D. x/v/2




Q18 The distance between two vertical poles is 60 m. The height of
one of the poles is double the height of the other. The angle of
elevation of the top of the poles from the middle point of the line
segment joining their feet are complementary to each other. The

height of the poles are :

3 en%q‘[a( tsai‘eﬁ * eﬁﬁ El?riﬁ 60 Iﬁ?{%l 0 GH i HATe %H\i GH =h

SR IR ngdl 2 ‘if‘th &l Sl THATT ATl TETEE & 7T fog & G o 9
T I 0 ek THL KT L gl @Il SHAT2 8

A.10 mand 20 m

B.20 mand 40 m

C.209mand 41.8 m

D. 15v2 m and 30v2 m
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